For # — 13 use the matrices to perform the following operations. If not possible, explain why.

9 -7 ~10
A=[‘13 _74 ‘04], B=|-2 zl, c=[:; ‘85], p=|1/| E=[10 -5 =5]

10 9 7
9.4-B 10. B-A 1. 4-C 12. 2B-C 13. C-D

1 00 3 -5 0
14. Find 1Q,ifI=|0 1 O|andQ=|-7 4 8
0 01 2 6 -3

For #15-16, determine whether each equation is true for the following matrices:
1 2 _[-4 0 _[5 1
4= [0 —2]’ B= [—1 8]’ ¢= [7 —2]

15. (A+B)C = AC + BC 16. A(BC) = (AB)C
1. Let
2 =1 3 8 =3 =5 0 =2 3
A= 0 4 51, B=|0 1 21, =1 74|, a=4, b= =7
-2 1 4 4 7 6 3 5 9
Show that

(@ A+ B+ C)=(A+B5+ T
(b) (AB)CT = A(BC)

(c) (@ t+B)C=al+2C

() ¢(8-=C)=aB—aC

2. Using the matrices and scalars in Exercise 1, verify that
(a) a(BC) = (aB)U = B(aC)
(b) AB-C)=AB-AC
(c) B+CT)A=B4A+CA
(d) a(dC) = (ad)C

3. Using the matrices and scalars in Exercise 1, verify that
® (aT) T4
®) (A+5)T=aT 487
© @ T=acT
(d) (AB)T:BTAT



Instructions: Perform each multiplication below, or state why it can’t be done.
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